N = 0l & At & Ml A

SN TREHY
M melst DEMH PE L CARE LH(LSLDNE/ER)
ool TR (St &8
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES (ZE o) (3] o) BlRE2
[= =] [= ]
CEHHUD 1,760,417 22,739,386 | 20,978,969
7 246,000
= 25,500
Al 1,488,917
mels DEMH TE L CARE LH(LSLDE/E 830,659 1,514,686 684,027
2)
c2Ha 262,000 185,000 77,000
Z1-165 M (32 H) T2HE B A 50,000 0 50,000
401 A&H L2 50,000 0 50,000
01 A&l 50,000 0 50,000
=204 50,000 0 50,000
ORFIC T2HEBA HALHES
50,000, 0002 50,000
AN FH(E22-10848) C2HE DA 40,000 15,000 25,000
401 A&H LSO 40,000 15,000 25,000
01 A&l 40,000 15,000 25,000
=0 & 40,000 15,000 25,000
OAANMINRIZS TRATDA AL
=E 40,000,0002 40,000
YXNLE 68212 2T T A 22,000 0 22,000
401 A&H L2 22,000 0 22,000
01 A&l 22,000 0 22,000
204 22,000 0 22,000
OYXLZ 6822 T2EHTIA &AL
g9 22,000,000% 22,000
2ESH(ERUE-HRESE)DENLAY 150,000 0 150,000
401 A&H LSO 150,000 0 150,000
01 A&l 150,000 0 150,000
=213 ( 150,000) | ( 0)| ( 150,000)
O=E65H(ZQUR-LR&82) DS
ALY MAEH 29 150,000,0002 |( 150,000) | ( 0)| ( 150,000)
=2 gRzL 568,659 1,329,686 AT761,027
SEHE doEa L 2o 104,842 26,800 78,042
101 eIt 21,494 0 21,494
04 JIAMZERSES 21,494 0 21,494
204 21,494 0 21,494
OE2MYSHA HHSX JAH2ER
o124 | 17,393




SN

-k

Hz: Helst DEMA PE YL SADE LN (2SLNE/E2)
e =2 SX2el (e &
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
i ==1 6,470 *x8A| 2hx1H »22 « 128 13,665
—F5g 6,470 xBA| 2t x1H x5 x 128 3,106
—AXE=E 6,470 *BA| 2t x1H x12& 622
O ZAIEHHA HHLE X JI2tH 22 X
MeE =3 2,098
i E=t=1 7803 *8A| 2tx1H »22 x12& 1,648
—F5g 7803 *8A| 2t x1H x5 x12& 375
— AHX =G 7803 *x8BAl 2 *1H x12& 75
Oz AIgHEA HFHEX JI2HH =22 A
282 2,003
—=0AH3 19,491,000 *45/1,000 878
—ALdEEa 19,491,000€ x30.6/1,000 597
—LOEIQUREE
597,000& *65.5/1,000 40
- 118882 19,491,000& *15/1,000 293
—MTHEE 2 19,491,000& *10/1,000 195
201 282 A Y| 77,648 20,900 56,748
01 Atz 54,174 9,940 44,234
= 0l & 54,174 9,940 44 234
ORAAIIFAE Y 3,430
PIEP 70,000& x7H x73] 3,430
OS=Ns ¥ pEws T2 sesey
701,800& x3024 21,054
OZ2R ML AEHZAI DB 9|
29,690& 1,000 X| 29,690
02 =324l 23,474 10,960 12,514
= 0l & 23,474 10,960 12,514
O=2ZR M AlEZE IR A
234,740,000& *10% 23,474
203 YRF=&4| 5,700 5,900 A 200
03 AMHZ=XHIF=XY| 5,700 5,900 A 200
= Ol & 5,700 5,900 A 200
OUR2 HEAMNY d2FA 5,700,000& 5,700
tHa2s 51,612 21,806 29,806
305 HHAZ2E 51,612 21,806 29,806
01 HiMd2S 51,612 21,806 29,806
= Ol & 51,612 21,806 29,806
OBHISZ2 EXN(E2)AI22 31,612
—93s 22X 226,000& «12& 2,712




SN

-k

Hz: Helst DEMA PE YL SADE LN (2SLNE/E2)
e =2 SX2el (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
—Tgs 12X 36,500& 128 438
—&30ls 12X 1,554 ,600& 128 18,656
—d==2s 12X 111,000& = 12& 1,332
—3&5s 32X 613,060& x12& 7,357
—Nds 32X, 58S 12X
93,043& x12& 1,117
OnlggX BEA(Es 116-9¢ X|) 20,000
— EXI0HL b 20,000,000& =1& X| 20,000
MIEME XNSSALY 300,000 1,130,000 A 830,000
401  AIEHIZ20iH] 300,000 1,130,000 A 830,000
01 Al&HI| 300,000 1,130,000 830,000
= 0l & 300,000 1,130,000 A 830,000
Od==ME NSSAL 300,000, 000& 300,000
TE2EE 22 112,205 0 112,205
201 282 AH| 112,205 0 112,205
01 At 2t2ldl 2,460 0 2,460
= 0l & 2,460 0 2,460
O=J gXtg 250,000 23| 500
Oz &e|alos 3o HFMH4H
70,000& x7H x4 3] 1,960
02 5324 109,745 0 109,745
= 0l & 109,745 0 109,745
Oz&dEs 1IN €85 S 2= 5,665
- Sl 1,930& *2,50021 4,825
— giBt 300& *2,50021 750
—dIEE 2 3,000& *30H 90
Oz&EEs EIIHXIA
1,021,000, 000& *10% 102,100
OWEHE 5=5I| KXY 330,000& *x6CH 1,980
milgt WESHAXLH (=L IE/NZTNE - SFSIIE 827,902 1,036,737 N 208,835
)
Xl 246,000
== 25,500
Al 556,402
MEtA sMHE TN )H 23 = 827,902 1,036,737 N 208,835
Xl 246,000
== 25,500
Al 556,402
ANEH S35 Z208 89 114,400 102,400 12,000




S 2
HI: Helst NESIAXLH (8L nNE/HENE - E8SIIE
S MNEA SMAE &) 25 FF (CHel &)
% = = 0l &FoH & S T 0] AFoH ~
EH-Z3H .42 (3H) - HEMNY - BES 2 mon) (I o) Hns2
< 7,500
Al 106,900
201 L9 79,900 64,100 15,800
[ 7,500
Al 72,400
01 AP 22lH| 28,500 64,100 A 35,600
20| A 28,500 64,100 A 35,600
OXNAENOI 2L 2 S22 HEH
10,000,000 10,000
ONBEHAL IS S SLUHNE L SE
el 6,000,000 6,000
ONFBHILEE, 22UHA 29 B5&3
(2o 5) 2 30,0002 x50l E 1,500
OXNENRIUHUHA L HMNYH 29 8F
7 100,000 *7JH 2 %103l 7,000
OXEHAAI (SHR ALZ) 22t
1,000,0002! *43] 4,000
03 A2 L H 51,400 0 51,400
[= 7,500
Al 43,900
= 0f| At 49,350 0 49,350
OAMBIRENED 2 LA 26,400
— =LA 25,0002 *1H 2 Al 2+ *163] x 152 12,000
— EX2Ab 15,0002 x22 2 A| 2t %1635 152 14,400
OFOIItE stM(x,5) HEHOHEDS
22,950,000 22,950
=313 ( 51,400) 49,350) 2,050)
(= 7,500) 0) 7,500)
(Al 43,900) 49,350) A5,450)
OFOtIte SM(E,5) HEHGHEDS
25,000,0008 |( 25,000) 22,950) 2,050)
(= 7,500) 0) 7,500)
(Al 17,500) 22,950) A5,450)
203 YRE=XH| 1,700 1,800 A 100
03 AMF=XA2FZY| 1,700 1,800 2100
= 0fl At 1,700 1,800 2100
OXENOIB2HHSE L A2FA
1,700,0002 1,700
301 LetEAa 17,800 4,500 13,300
09 BALAHIEAS 17,800 4,500 13,300




SN E2FH MY
M. He|g nEEXH(+SLNE/HESNE - SF/SIIEH)
S MEA sMHdY UHEH 23 (CHe &)
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 18,300 4,500 13,800
OXNEHZSISHA, KNASAF L AEFFH
JLRE B4 2,100,000& 2,100
ONENED ISR MHDE2
10,000 *10¥ 123 1,200
OX&EIN AMEI AIBEERE 2t01Y
15,000, 000& 15,000
=&13 ( 17,800) | ( 18,300) | ( A500)
OXNEHIZSSHAL, KNIASAF & AEJF
IR 24 1,600,000€ |( 1,600) | ( 2,100) | ( A500)
307 QI12t01 A 15,000 15,000 0
04 DIZ2ISHALAIE E X 15,000 15,000 0
= 0l & 15,000 15,000 0
OE&AC NEAHUFAH 15,000,000& 15,000
ANEH S34dEH 29 261,672 233,952 27,720
101 ol 24 H| 216,672 179,272 37,400
04 JIZtHZ2Z2XNSE =+ 216,672 179,272 37,400
= 0l & 216,672 179,272 37,400
OXNEN SFHEH 29 JI2tH22 & oA
]l 175,364
i l==1 6,470 *8A| 2H*11H *x22U x11& 137,786
—F5g 6,470 *x8A| 2tx11H x5« 11& 31,315
— AXE 6,470 *BAI 2 x 11 112 6,263
OXN&EIN SSEH 29 JI2tHZ2 2 X M
o2 21,143
—-J23 7803 *8A| 2tx11H x22 x11& 16,611
—F5g 7803 *8A| 2t*11H x5 % 11& 3,776
— X E 780 *8A| 2t x11H «11& 756
OXN&EN 2SHH 29 JI2tHZ22X B
= 20,165
— =03 196,507,000 *45/1,000 8,843
— AL EE 196,507,000 *30.6/1,000 6,014
LRI Ry
6,014,000 *65.5/1,000 394
—11s88d 196,507 ,000& x15/1,000 2,948
—MHEE 196,507 ,000€ x10/1,000 1,966
201 282 AH| 45,000 36,680 8,320
01 AP 22|t 11,500 8,000 3,500
= 0l & 11,500 8,000 3,500
OXNENISHEH 2HEHES FLHI
300,000 x12& 3,600




SN E2FH MY
M. He|g nEEXH(+SLNE/HESNE - SF/SIIEH)
S MEA sMHdY UHEH 23 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
OFAEH A28 2 L £=H&H| 6,700
—HOKTEE U 2
150, 000& *2[H 23] 600
—&T=2AD] EH 2 150,000& *23] 300
— WA EH 2 100,000& *23| 200
— SAMEH S EH| 700,000& *4J4 x23| 5,600
ORZHANARSY 448
100, 000& ~12& 1,200
02 =324l 33,500 28,680 4,820
= 0l & 383,500 28,680 4,820
O3322 ¥ AMA 15,000
— &I R23 1,100,000& ~12& 13,200
—HESNR=2 150,000& = 12& 1,800
OA=2KXH S 16,220
— A2 2 XYl 2,4703 %898 .5m* 2,220
— A& SXE4H] 12,000, 000& 12,000
— St & A S| 500,000& *4 4 A~ 2,000
OEI|t22|E =42 100, 000& = 12& 1,200
OAWOIF (S8 2alUY 242
90,000& 128 1,080
Z2ZX A Eco Service HHERT REAL(AAHE ) 309, 110 700,385 N 391,275
Xl 246,000
= 18,000
Al 45,110
201 2AE2HH| 14,000 0 14,000
Xl 11,200
== 840
Al 1,960
01 Ar®2teltl 6,000 0 6,000
X 4,800
== 360
Al 840
=0 6,000 0 6,000
Xl 4,800
== 360
Al 840
O2EF ZMHA WERKA FSAIYE =
8 & HE 6,000,000 6,000
Xl 4,800




SN E2FH MY
M. He|g nEEXH(+SLNE/HESNE - SF/SIIEH)
B9l NEA SMAR NAN 2IEA CERT
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
& 360
Al 840
03 AI2HH| 8,000 0 8,000
Xl 6,400
= 480
Al 1,120
= 0l & 8,000 0 8,000
Xl 6,400
== 480
Al 1,120
O2EF ZMHA WERKA 2SAIY =
OIEW e ZTz)d 29 8,000,000 8,000
Xl 6,400
== 480
Al 1,120
401  AIEHIY20iH] 295,110 700,385 N405,275
Xl 234,800
== 17,160
Al 43,150
01 Al&H| 293,000 696,000 A 403,000
Xl 234,800
o= 17,160
Al 41,040
= 0ff & 293,000 696,000 A 403,000
Xl 234,800
o 17,160
Al 41,040
OZ2EA Z2-AHIA WERZ REAL(
Mo =Me R A ) ST B A
293,000, 000& 293,000
Xl 234,800
== 17,160
Al 41,040
03 AlE&20id] 2,110 4,385 N2,275
= Ol & 2,110 4,385 N2,275
OZ2EA 2-AMHIA WEKAZ RS A(
Tojsi=mMea S ExEA
293,000,000& *0.72% 2,110
XA&EA OIS AIE Hb| 92,720 0 92,720




2H 23]

& Helst E%@%.’E’S(—’F%%E%/EH%E% SFEJIEH
ol HEA SMAE NE) 28 E (2o ae
M+ B8 .S (31H) - S - B @(ijf;lﬁ% HDE2
401  AIEHIY20iH] 92,720 0 92,720
01 Al&H| 92,000 0 92,000
= 0l & 92,000 0 92,000
OX&EIH HEAIE HH|I S A
2,666,666 *30km 80,000
OXN&EN BINF S| 600, 000& *20CH 12,000
03 AIES0Hb] 720 0 720
= 0l & 720 0] 720
OX&EIH GHEAIE HH| 2 A
80,000,000& *0.9% 720
FEA OIS2EH3 HE S =9 50,000 0 50,000
401  AIEHIZL20i4] 50,000 0 50,000
01 Al&HI 50,000 0 50,000
= 0l & 50,000 0 50,000
OFFA UNEAH OI2E243 HE =8 2
S H| 50,000,000 50,000
HESHAAL (T2 D) (DIEH/DIE) 101,856 175,963 ANT4,107
ol 2| 48,696 116,323 NB7,627
A2 AHY| 48,696 116,323 NB7,627
1 o124 4| 48,696 116,323 NB7,627
02 JIEtEE = 48,696 54,366 N5,670
= 0l & 48,696 54,366 N5,670
OXENEeHA AlFSAER R DI A 24 d| 41,095
EAR==1 2,646,2603 x 15 x12& 31,756
—JIEx=g 100,000& x2H x12& 2,400
— A3 E x| 140,000 *35/40x1H «12& 1,470
— M ZAY| 130,000& *1H x12& 1,560
— I E AHH|
2,646,260 *84%*86%+*1/30x1/7*56 Al 2+ 510
—EZW2RY 7,360 x 1 *x20A| 2tx 122 1,767
— 4 UASH 1,632,000& 1,632
OXENEeHA ZQHAERHADIH B2 4,219
—=0d3 41,095,000& *45/1,000 1,850
—2AAEE 41,095,000 *30.6/1,000 1,258
— Lo RUBE
1,258,000& x65.5/1,000 83
—188E 41,095,000& *x15/1,000 617
—AMEE 41,095,000& *x10/1,000 411




SN CREH
Y HNABU(S2 ) (IIEHIIEL)
£H9: olet2 el CERT
SA BB (AH) - HBAY - BA= o ) HDE 2
OXNENHSSEEH AMAHABHAIH E22
41,095,000 *7% 2,877
OXNENZSHHE AlZHHERHADIH EXE
&3 505,000 =13l 505
=2Z tl 53,160 59,640 A6,480
Jl2 &l 53,160 59,640 A6,480
201  etI| 21,600 23,760 A2,160
01 At 22ldl 21,600 23,760 A2,160
= 0l & 21,600 23,760 A2,160
OFAM2II23H| 21,600
— 2Bt~ Z Y| 40,000 x20H 123 9,600
— =24l 50,000 x20H 123 12,000
202 Ol 27,360 31,680 AN4,320
01 =LHO b 27,360 31,680 A4,320
= 0l & 27,360 31,680 AN4,320
OYRFLII20HY| 120,000 x19H «12& 27,360
203 YR F&Hl 4,200 4,200 0
04 EN2EAHARFAHI 4,200 4,200 0
= 0l & 4,200 4,200 0
ORI HRFLH 350,000& x12& 4,200




